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From all this one can at bottom conclude nothing against the antiquity of the globe. For,
supposing even that an influx of barbarians had made us lose entirely all the arts even to
the arts of writing and making bread; supposing, further, that for ten years past we had no
bread, pens, ink and paper; the land which has been able to subsist for ten years without
eating bread and without writing its thoughts, would be able to pass a century, and a
hundred thousand centuries without these aids.

It is quite clear that man and the other animals can exist very well without bakers, without
novelists, and without theologians, witness the whole of America, witness three quarters
of our continent.

The newness of the arts among us does not therefore prove the newness of the globe, as
was claimed by Epicurus, one of our predecessors in reverie, who supposed that by
chance the eternal atoms in declining, had one day formed our earth. Pomponace said:
"Se il mondo non ¢ eterno, per tutti santi é molto vecchio."

ASTROLOGY

Astrology may rest on better foundations than Magic. For if no one has seen either
Goblins, or Lemures, or Dives, or Peris, or Demons, or Cacodemons, the predictions of
astrologers have often been seen to succeed. If of two astrologers consulted on the life of
a child and on the weather, one says that the child will live to manhood, the other not; if
one announces rain, and the other fine weather, it is clear that one of them will be a
prophet.

The great misfortune of the astrologers is that the sky has changed since the rules of the
art were established. The sun, which at the equinox was in Aries in the time of the
Argonauts, is to-day in Taurus; and the astrologers, to the great ill-fortune of their art, to-
day attribute to one house of the sun what belongs visibly to another. However, that is not
a demonstrative reason against astrology. The masters of the art deceive themselves; but
it is not demonstrated that the art cannot exist.

There is no absurdity in saying: Such and such a child is born in the waxing of the moon,
during stormy weather, at the rising of such and such star; his constitution has been
feeble, and his life unhappy and short; which is the ordinary lot of poor constitutions: this
child, on the contrary, was born when the moon was full, the sun strong, the weather
calm, at the rising of such and such star; his constitution has been good, his life long and
happy. If these observations had been repeated, if they had been found accurate,
experience would have been able after some thousands of years to form an art which it
would have been difficult to doubt: one would have thought, with some likelihood, that
men are like trees and vegetables which must be planted and sown only in certain
seasons. It would have been of no avail against the astrologers to say: My son was born at
afortunate time, and nevertheless died in his cradle; the astrologer would have answered:
It often happens that trees planted in the proper season perish; | answered to you for the
stars, but | did not answer for the flaw of conformation you communicated to your child.
Astrology operates only when no cause opposes itself to the good the stars can do.

One would not have succeeded better in discrediting the astrologer by saying: Of two
children who were born in the same minute, one has been king, the other has been only
churchwarden of his parish; for the astrologer could very well have defended himself by
pointing out that the peasant made his fortune when he became churchwarden, as the
prince when he became king.

And if one alleged that a bandit whom Sixtus V. had hanged was born at the same time as
Sixtus V., who from a pig-herd became Pope, the astrologers would say one had made a
mistake of a few seconds, and that it is impossible, according to the rules, for the same
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star to give the triple crown and the gibbet. It is then only because a host of experiences
belied the predictions, that men perceived at last that the art was illusory; but before being
undeceived, they were long credulous.

One of the most famous mathematicians in Europe, named Stoffler, who flourished in the
fifteenth and sixteenth centuries, and who long worked at the reform of the calendar,
proposed at the Council of Constance, foretold a universal flood for the year 1524. This
flood was to arrive in the month of February, and nothing is more plausible; for Saturn,
Jupiter and Mars were then in conjunction in the sign of Pisces. All the peoples of
Europe, Asia and Africa, who heard speak of the prediction, were dismayed. Everyone
expected the flood, despite the rainbow. Several contemporary authors record that the
inhabitants of the maritime provinces of Germany hastened to sell their lands dirt cheap
to those who had most money, and who were not so credulous as they. Everyone armed
himself with a boat as with an ark. A Toulouse doctor, named Auriol, had a great ark
made for himself, his family and his friends; the same precautions were taken over alarge
part of Italy. At last the month of February arrived, and not a drop of water fell: never
was month more dry, and never were the astrologers more embarrassed. Nevertheless
they were not discouraged, nor neglected among us; almost all princes continued to
consult them.

| have not the honour of being a prince; but the celebrated Count of Boulainvilliers and an
Italian, named Colonne, who had much prestige in Paris, both foretold that | should die
infallibly at the age of thirty-two. | have been so malicious as to deceive them aready by
nearly thirty years, wherefore | humbly beg their pardon.

ATHEISM
SECTION I

OF THE COMPARISON SO OFTEN MADE BETWEEN ATHEISM AND IDOLATRY

It seems to me that in the "Encyclopedic Dictionary" the opinion of the Jesuit Richeome,
on atheists and idolaters, has not been refuted as strongly as it might have been; opinion
held formerly by St. Thomas, St. Gregory of Nazianze, St. Cyprian and Tertullian,
opinion that Arnobius set forth with much force when he said to the pagans:. "Do you not
blush to reproach us with despising your gods, and is it not much more proper to believe

in no God at al, than to impute to them infamous actions?'[" opinion established long
before by Plutarch, who says "that he much prefers people to say there is no Plutarch,

than to say—'There is an inconstant, choleric, vindictive PIutarch"';[Z] opinion
strengthened finally by all the effort of Bayl€e's dialectic.

Here is the ground of dispute, brought to fairly dazzling light by the Jesuit Richeome, and
rendered still more plausible by the way Bayle has turned it to account.”’

"There are two porters at the door of a house; they are asked: 'Can one speak to your
master? 'He is not there,' answers one. 'He is there,' answers the other, 'but he is busy
making counterfeit money, forged contracts, daggers and poisons, to undo those who
have but accomplished his purposes.' The atheist resembles the first of these porters, the
pagan the other. It is clear, therefore, that the pagan offends the Deity more gravely than
does the atheist."

With Father Richeome's and even Bayle's permission, that is not at all the position of the
matter. For the first porter to resemble the atheists, he must not say—"My master is not
here": he should say—"1 have no master; him whom you claim to be my master does not
exist; my comrade is a fool to tell you that he is busy compounding poisons and
sharpening daggers to assassinate those who have executed his caprices. No such being
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existsin theworld."

Richeome has reasoned, therefore, very badly. And Bayle, in his somewhat diffuse
discourses, has forgotten himself so far as to do Richeome the honour of annotating him
very malapropos.

Plutarch seems to express himself much better in preferring people who affirm thereis no
Plutarch, to those who claim Plutarch to be an unsociable man. In truth, what does it
matter to him that people say he is not in the world? But it matters much to him that his
reputation be not tarnished. It is not thus with the Supreme Being.

Plutarch even does not broach the real object under discussion. It is not a question of
knowing who offends more the Supreme Being, whether it be he who denies Him, or he
who distorts Him. It is impossible to know otherwise than by revelation, if God is
offended by the empty things men say of Him.

Without a thought, philosophers fall almost always into the ideas of the common herd, in
supposing God to be jealous of His glory, to be choleric, to love vengeance, and in taking
rhetorical figures for real ideas. The interesting subject for the whole universe, is to know
if it be not better, for the good of all mankind, to admit a rewarding and revengeful God,
who recompenses good actions hidden, and who punishes secret crimes, than to admit
none at all.

Bayle exhausts himself in recounting al the infamies imputed by fable to the gods of
antiquity. His adversaries answer him with commonplaces that signify nothing. The
partisans of Bayle and his enemies have amost aways fought without making contact.
They dll agree that Jupiter was an adulterer, Venus a wanton, Mercury arogue. But, as |
see it, that is not what needs consideration. One must distinguish between Ovid's
Metamorphoses and the religion of the ancient Romans. It is quite certain that never
among the Romans or even among the Greeks, was there a temple dedicated to Mercury
the rogue, V enus the wanton, Jupiter the adulterer.

The god whom the Romans called Deus optimus, very good, very great, was not reputed
to encourage Clodius to sleep with Cassar's wife, or Cassar to be King Nicomedes
Sodomite.

Cicero does not say that Mercury incited Verres to steal Sicily, although Mercury, in the
fable, had stolen Apollo's cows. The real reigion of the ancients was that Jupiter, very
good and very just, and the secondary gods, punished the perjurer in the infernal regions.
Likewise the Romans were long the most religious observers of oaths. Religion was very
useful, therefore, to the Romans. There was no command to believe in Leda's two eggs, in
the changing of Inachus' daughter into a cow, in the love of Apollo for Hyacinthus.

One must not say therefore that the religion of Numa dishonoured the Deity. For a long
time, therefore, people have been disputing over a chimera; which happens only too
often.

The question is then asked whether a nation of atheists can exist; it seems to me that one
must distinguish between the nation properly so called, and a society of philosophers
above the nation. It is very true that in every country the populace has need of the greatest
curb, and that if Bayle had had only five or six hundred peasants to govern, he would not
have failed to announce to them the existence of a God, rewarder and revenger. But Bayle
would not have spoken of Him to the Epicureans who were rich people, fond of rest,
cultivating al the social virtues, and above al friendship, fleeing the embarrassment and
danger of public affairs, in fine, leading a comfortable and innocent life. It seems to me
that in this way the dispute is finished as regards society and politics.

For entirely savage races, it has been said aready that one cannot count them among
either the atheists or the theists. Asking them their belief would be like asking them if
they are for Aristotle or Democritus: they know nothing; they are not atheists any more
than they are Peripatetics.

In this case, | shall answer that the wolves live like this, and that an assembly of cannibal
barbarians such as you suppose them is not a society; and | shall always ask you if, when
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you have lent your money to someone in your society, you want neither your debtor, nor
your attorney, nor your judge, to believe in God.

OF MODERN ATHEISTS. REASONS OF THE WORSHIPPERS OF GOD

We are intelligent beings: intelligent beings cannot have been formed by a crude, blind,
insensible being: there is certainly some difference between the ideas of Newton and the
dung of amule. Newton's intelligence, therefore, came from another intelligence.

When we see a beautiful machine, we say that there is a good engineer, and that this
engineer has excellent judgment. The world is assuredly an admirable machine; therefore
there isin the world an admirable intelligence, wherever it may be. This argument is old,
and none the worse for that.

All living bodies are composed of levers, of pulleys, which function according to the laws
of mechanics; of liquids which the laws of hydrostatics cause to circul ate perpetually; and
when one thinks that all these beings have a perception quite unrelated to their
organization, one is overwhelmed with surprise.

The movement of the heavenly bodies, that of our little earth round the sun, all operate by
virtue of the most profound mathematical law. How Plato who was not aware of one of
these laws, eloquent but visionary Plato, who said that the earth was erected on an
equilateral triangle, and the water on a right-angled triangle; strange Plato, who says there
can be only five worlds, because there are only five regular bodies: how, | say, did Plato,
who did not know even spherical trigonometry, have nevertheless a genius sufficiently
fine, an instinct sufficiently happy, to call God the "Eternal Geometer," to feel the
existence of a creative intelligence? Spinoza himself admits it. It is impossible to strive
against this truth which surrounds us and which presses on us from all sides.

REASONS OF THE ATHEISTS

Notwithstanding, | have known refractory persons who say that there is no creative
intelligence at dl, and that movement alone has by itself formed all that we see and all
that we are. They tell you brazenly:

"The combination of this universe was possible, seeing that the combination exists:
therefore it was possible that movement alone arranged it. Take four of the heavenly
bodies only, Mars, Venus, Mercury and the Earth: let us think first only of the place
where they are, setting aside al the rest, and let us see how many probabilities we have
that movement alone put them in their respective places. We have only twenty-four
chances in this combination, that is, there are only twenty-four chances against one to bet
that these bodies will not be where they are with reference to each other. Let us add to
these four globes that of Jupiter; there will be only a hundred and twenty against one to
bet that Jupiter, Mars, Venus, Mercury and our globe, will not be placed where we see
them.

"Add finally Saturn: there will be only seven hundred and twenty chances against one, for
putting these six big planets in the arrangement they preserve among themselves,
according to their given distances. It is therefore demonstrated that in seven hundred and
twenty throws, movement alone has been able to put these six principal planets in their
order.

"Take then all the secondary bodies, al their combinations, al their movements, al the
beings that vegetate, that live, that fed, that think, that function in all the globes, you will
have but to increase the number of chances; multiply this number in al eternity, up to the
number which our feebleness calls 'infinity," there will always be a unity in favour of the
formation of the world, such asit is, by movement alone: therefore it is possible that in all
eternity the movement of matter alone has produced the entire universe such as it exists.
It is even inevitable that in eternity this combination should occur. Thus," they say, "not
only isit possible for the world to be what it is by movement alone, but it was impossible
for it not to be likewise after an infinity of combinations."
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ANSWER

All this supposition seems to me prodigiously fantastic, for two reasons; first, that in this
universe there are intelligent beings, and that you would not know how to prove it
possible for movement alone to produce understanding; second, that, from your own
avowal, there is infinity against one to bet, that an intelligent creative cause animates the
universe. When one is alone face to face with the infinite, one feels very small.

Again, Spinoza himself admits this intelligence; it is the basis of his system. You have
not read it, and it must be read. Why do you want to go further than him, and in foolish
arrogance plunge your feeble reason in an abyss into which Spinoza dared not descend?
Do you regdlize thoroughly the extreme folly of saying that it is a blind cause that arranges
that the square of a planet's revolution is always to the square of the revolutions of other
planets, as the cube of its distance is to the cube of the distances of the others to the
common centre? Either the heavenly bodies are great geometers, or the Eternal Geometer
has arranged the heavenly bodies.

But where is the Eternal Geometer? is He in one place or in all places, without occupying
space? | have no idea. Is it of His own substance that He has arranged all things? | have
no idea. Is He immense without quantity and without quality? | have no idea. All that |
know is that one must worship Him and be just.

NEW OBJECTION OF A MODERN ATHEIST!Y

Can one say that the parts of animals conform to their needs. what are these needs?
preservation and propagation. Is it astonishing then that, of the infinite combinations
which chance has produced, there has been able to subsist only those that have organs
adapted to the nourishment and continuation of their species? have not all the others
perished of necessity?

ANSWER

This objection, oft-repeated since Lucretius, is sufficiently refuted by the gift of sensation
in animals, and by the gift of intelligence in man. How should combinations "which
chance has produced," produce this sensation and this intelligence (as has just been said
in the preceding paragraph)? Without any doubt the limbs of animals are made for their
needs with incomprehensible art, and you are not so bold as to deny it. You say no more
about it. You feel that you have nothing to answer to this great argument which nature
brings against you. The disposition of a fly's wing, a snail's organs suffices to bring you
to the ground.

MAUPERTUIS' OBJECTION

Modern natural philosophers have but expanded these so-called arguments, often they
have pushed them to trifling and indecency. They have found God in the folds of the skin
of the rhinoceros. one could, with equal reason, deny His existence because of the
tortoise's shell.

ANSWER

What reasoning! The tortoise and the rhinoceros, and all the different species, are proof
equally in their infinite variety of the same cause, the same design, the same aim, which
are preservation, generation and death.

There is unity in this infinite variety; the shell and the skin bear witness equally. What!
deny God because shell does not resemble leather! And journalists have been prodigal of
eulogies about these ineptitudes, eulogies they have not given to Newton and Locke, both
worshippers of the Deity who spoke with full knowledge.
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of Origen{origina had "Origin"}, of Clement of Alexandria, and of all those other
authors called "fathers.”

page 101: we shall be convinced that we must not be vain about anything, and yet we
shall aways{ original had "aways'} have vanity.

page 128: All that certain tyrants{ original had "tryants'} of the souls desire is that the
men they teach shall have false judgment.

page 166: and to surround him with little chubby, flushed faces accompanied{ original
had "accompained"} by two wings; | laugh and | pardon them with all my heart.

page 171. And an unfortunate{origina had "unforunate"} idiot, who had had enough
courage to render very great servicesto the king

page 220: Try to retake from the Mohammedans all that they usurped; but it is easier to
calumniate{ original had "calcumniate'} them.

pafe 224 It was allowed among the Egyptians{ original had "Egyptains'}, the Athenians
and even among the Jews, to marry one's sister on the father's side.

page 251: Your parents have told you that you should bow before this man; you respect
him before knowing whether he merits your respect;{ original had colon} you grow in
years and in knowledge;

page 280: (Corporalitas animee in ipso Evangelio relucescit, De Anima,{origina had
period} cap. vii.)

page 295: " She soon became a monarchy, then,{ original had period}" said the Brahmin.

page 315: we refer these things to the infallible{ original had "infallable'} judgment of the
Holy Inquisition of Rome, Florence, Madrid, Lisbon,



